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/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

Find the median of the data 10, 8, 5, 3, 9,6, 12, 14, 13, 7, 1

B3 @Q@@ 14, @@ﬁ TIfeTeT 1 BT




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

Find the number of sides of a regular polygon whose each exterior angle
measures 40°.

U TH dgheid &l YT3il Dl AT JTd HIU,_{oR-D YD digl HIUT I HIY 40°
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/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

If a certain sum of money Rs. 729 becomes Rs. 1331 in 3 years. Then, find the
rate of compound interest.

gi¢ 729 %, @I U [ATYA AR 3 a8 H 1331 %. 8l Sl © dl dehdla 4TSl B &R Id
DIfoTu|




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Find the amount if the sum of Rs. 1600 is compounded at 10% half yearly for 1

year.
gfe 1600 YT Bl UPH gV & 10 10% DI &2 I 31¢f aiities =u I Igifora faar s
& a9 e 31d SIS
1823
. 1646
1764

. 1720




/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

What will be the remainder when 67° is divided by 5?

676 B 5 Y HAT &1 R ANHd T 3?2




@ %déeatmé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E06321

The simple interest on a certain sum of money at the rate é;f 5% 9 O
years is Rs. 420. At what rate of interest, the same amount erest carrbe

received on the same sum after two and half years?

5% TN TSl i ¢ J IR a1 & o0 T [ ¢RI U Ured J14RoT sg1of
420 ¥UT g | Al <7 LIS X W TT5 Iy §1e JAT A TR AT Bl FHT A

Tt i oIl Fbdil, 27 BU( 1 :p_ﬂr
| 4

al/




=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E06321 /

0
a) 12.5% loss

M gain

C) 11.11% loss

d) 11.11% gain
W
™ g




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

A shopkeeper allows 25% discount on the marked price of an article and still
makes a profit of 20%. then what will be the ratio of the cost price and the
marked price of an article?

Uh GhHaR Udh 93 & 3ifdhd Bl TR 25% 41 ¢ U ddl g AR [ il 20%
D1 AT HSId DAl g, dl I K] D hd Hed AR 3ifdbd e DI 3-Urd 1 g2




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

Ayan went from Ato B at a speed of 10 km/h and returned from Bto A at a
speed of 30 km/h. What was his average speed in the whole journey?

3141 10 foHl/eer ot 1fd A T & db 741 3R 30 {dHl/Ee o 1fd & G TR
cle 31aT| G g | 34t 3{19d i &r 412

q ) 30 km/h

b) 45 kmih

C) 25 km/h

p%w km/h

—

A\/ al




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

At present, the ratio of the ages of Maya and Chhaya is 6 : 5 and fifteen years
from now, the ratio will get changed to 9 : 8. Maya's present age is

AT H, HIAT 3R ST DI 311G BT 3JUIT 6 : 5 37 3 H 15 I dcp, ST 9 : 8
4 giRafcd g1 SIuam| Arm ot dad S1g =1 872

- 6
Q)/\"J R / /‘- @ a) 21 years
& N b) 24 years
+s\, . ' \i)éars

d) 40 years




=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

Find the mean proportional between 8 and 98.

8 3R 98 & dId T 3{Ulfcid HIH T DIfoIU|

a) 16
b)
C) 112

.




=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

By selling 22 plates for Rs.297, the seller lost 10%. How many plates should a
seller sell for Rs 180 to make a profit ef26%"

7/

ﬁ&cﬁ QR, fdshdl T 10% Pl BT B | 20% P TH HH o
foTu U fadsar ! 180 30T GAD ] W d==HA1(gUu?

a) 16
b) 15




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

A can finish a work in 20 days and B can finish the same work in 25 days. They
began together, but B left the work after 5 days. How many more days will A

take to finish-ihg remaining work>
Agcr}¢|H¢|2oﬁ¢ﬁﬁ@wwﬂmd|€aﬁ?5-ﬂm4cmHchl25ﬁ¢ﬁﬁ@|@4cb{
IJohdiel d @ <r||‘~ d%@rﬁe 5 el & §C FH SIS el o

dl AN HH DI WH D b (U & THTI?
= EmVALK




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

The simple interest on a certain sum at the end of three years at 5% p.a. is Rs.
1,200. The compound interest on the same sum for the same period at the
& rate is (interest compounded yearly).

AN S Hf X I di- a8l & 3d O U [HfYd IR 9= T a1 IreRvl

TS 1,200 YT g | dI UM <A1 $f &3 UR I i & ot a9 IR R
r?‘\ LY Y = =

dehdlg Mol @-nuw It =L JYIISTd BIdl §) 31 872

aﬁ&m j) {o %%a)Rs. 820

. 1,800

. 1,260

. 1,261




endrd. FOR MORE DISCOUNT VISIT www.mahendras.org & USeE PROMO cODE : E06321 /
53 .
Qb | The value of 27a° — 2V2b° is equal to:
L=5/ 2733 — 2\2b® A AM fHdD TRIR 82

//_N C'J? +19 — \2b)(9a? + 2b? + 312 ab)

\ J J'L} b) 3a — \V2b)(9a2 + 2b? + %ﬂb)
“ } Z C) (3a — \2b)(9a® — 2b” + %ﬁb)
ke J'LB d)J .

o _ (3a = L2b) gmab)

Qf@ o+ 3 &




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A person marked his goods at a price that would give him 40% profit. But he
declared a sale and allowed 20% discount on the marked price. What is the
profit percentage of the person in the whole transacti

difdh 3G U [ach! Bl 9IN0TT B 3R b d Hed U\ Jok I dl IR

A e d Afad &1 ary uided | re2 0
) 7)




MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Two racers run at a speed of 100 m/min and 120 m/min, respectively. If the
econd racer takes 10 minutes less than the first to complete the run, then how
Xg is the race?

&l Y19 PHRT: 100 HIC/HE 3R 120 Hiey/ e &I 71ld R asSd g | Ald GR0

D GIS g4 U1 P & (8 Ugd U1dP I 10 BT HH ddl g, dl als fdba-! adl
g7

a) 6 Km
b) 4 km

C)2km
d)1km
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E06321

es equal to the cost price of that article-

) e
f\f 66.66% Adiscount is_offered on marked pri i -
e hatis fhe marked up

INnQg price

percentage?

i fhdl a¥g & sifdbd 7 IR 66.66% P Fe ol Wil &, dl fdehd e 39 a¥g &

v Hed b axTaR 8l Sl ¢ | dftld Sifcbd Hed Hid=Id o1 872

e

%
b) 100%
C) 150%
d) 300%




